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Y3 AT AT craETeite 94 . 001 o 004 =it I oo varEmy et

HETCHT SAfqe $ol FauIard, SI B T 9fes §el 3R, a1 SIIdie |atd gfas HivE. <A1 ASITell JAre
T HEw hesd ATEl. Al A URUE W STal. A ST eIl Sfiad wgeamen e 4 Juell od. sTessi
WIS BT g ITEAl. 1 WIS ¥ Sal. q1 el gl g el gl S g =ieAren wg & e
Ireft STl A1 TR gE wdl. s, e 7 enfor wid we gy & i g, S agsT greteTie
& HLdl, M7 HeheTar HId ohidl.

001. SfdeT=a Hd, S |atd qfes /U@ Shiord ?
(1) < o= Fdes e, (2) U T g Ul el 3TEd.
(3) <t Tt e (4) g/ A9 et 3TEd.

002. TISTET AR 9 H<i hIMges fhresd ?
(1) f=w 3 3wt sfemge. (2) TR & s Steams.
(3) M 9 HEHE hed. (4) TEATE HTHEM HEd HedH.

003.  3TTe3eft OIS AT Tl ?
(1)  ar |Ee 3. (2) @ FENSTET AR STEd.
(3) i g% 9 WHISTET ¥ AL (4) QI AU IS Id HTetad.

004. ERisfict WIUE ST SE@TET ?
(1) St go=aHm= B i <.
(2) @ 9 STECA M1 ST HEced degd <dl.
(3) o gy, FHe 9 wd T STEE.
(4) S G T Td:=A SRAufieidEn 9HTSa JER Rl

005. ‘Zaedla g e faegaTell wreg hivrdT?
(1) &dst (2) w9 (3) Fme (4) ®RE

006. 3ATAT ATSI 3T HIUHATAT & Heal,
1 RIS I BT gowd] gl
(1) & w1 - ge e . (2) HHEIHATAT - HEHA
(3) daM@ - dd (4) ST HIVIAE I AT

007. ‘TTEIETE! 91 Weald Widladsh! hIvdT e TTal.
(1) ¥mX (2) ER (3) @&t (4) @rél
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008. ‘oH IV AT ITRYERET AT 37 HIvTaT ?

(1) < oo (2) @I AR @ (3) w9 g (4) ¢ amEn
009. YieTdshl ivrdt & T <t ATEa ?

(1) = (2) @meE (3) T (4) =Rt TR
010. YeITIchl ST<[h IT6g VKT ?

(1)  grde (2) e (3) gaE (4) gaEd
011. YeIcTUshl hivre Terdict wrog fomanfersivor’ =1 sregaiTeiidiel 31med ?

(1) =, e (2) w4, W= (3) AT, S (4) i, =Tt
012. YEIcrushl erganfera fosreor v ?

(1) wa-uri (2) arEdt 76 (3) ot g&ah (4) iU TE
013. JEIIUshl hiv[cal TRl fshamae Hehteh 3118 ?

(1) Tgesl 9’ e, (2) e rEeRt e,

(3) e ul AEEE T e, (4) gHa 3o guaTen STEd.
014. TSI ATSH TG UY HIvIT ?

(1) foaemfay (2) <fen-afe (3) sTRad (4) =IOt AT
015. JEIAushl QUi SAHMehIBIE AT 10T ?

(1) uYd o1g Wedl 3. (2) W G @iea Bl

(3) WY @ @l (4) wYd TG TWiea ITR.
016. JSTTG AT 0T FhIvTd ?

(1) 4@, 49,9, 7T, T (2) =,9,9,3

(3) 4,9 9, 9,T,T (4) 4,49,49,39,3%
017. Hd wguifd ‘@ 92 Ugad qed iy ued’ | A1 SAeSidiel SThR Hivrd ?

(1) =\ (2) o™ (3) 3w (4) Sedem
018. YIcTushl 3TIsa=l Ul ShivrT ?

(1) % 2) @ (3) = (4) =
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&S shiaal aTgd d@T@Tetel 94 3. 019 ° 022 < 3W Teiean u"iamy Haer.
BT ORI 3T, AT
31 hegTEl Uk Al A
igd=n stem ar fmmen
TeH! A=A SV ST AT ||

S Smerelt STRgd =

IR feagmn <anas 39™

T foeel et grau

FY TS 39 I SR
ShIg AT quT = HOTTAT
ST IUGTHH 8T el
dre ¥ ol Wl g
g AT @ 3UTE |

ol Tfed o weh ot 3umeht

qll @ ¢ g uE A

Raan angf @ stistedta

=1 AW Al e e

019. 7 Shiddd ST IUH el T8 ?
(1)  feepra (2) A= (3) o= (4) vt

020. I AU h1 2RALT Bl ?

(1) IHHS (2) 3uEHS (3) THAYS (4) e wifidea™

021. ‘eE <RI TECA MR ?
(1) T (2) afre (3) T (4) SvaE

022. TYhT=ITE ST S S ohal ?
(1) =T 3 9EA 3T
(2) Ty A fawndiar @d 99 ehdl.
(3) e = I oo
(4) @M e e feen.

023. ‘hIEgd AT IAUMFTEH T ST Hlfgfcrehra T1d i ?
(1) 9. %. 31 (2) . %. TEA
(3) . . TER (4) fa. ar. firare
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024.

025.

026.

027.

028.

029.

030.

IEid aTerITd IV fomirg STERe g§d ?

TS FEUITeAl, ST AT fehel ®F slietert!

(1) 7 (2) . (3) ; 4) 7
TeheeT HTaTel TsIEai T ey wue ufget uriaifves firere, wmen fafeeiel v i Y= 3@ ?
(1) <iepsft o= (2) fiEeT (3) R 9 (4) wTTOfY
“RIVTE T T T O AT VYRS a9 vreg ferar.

(1)  geRSTet (2) =TS (3) diste (4) =reguy
TEh WIAEg AUTS AT TS BT YLEhR hogl Ted et ?

(1) 6 Sgamd 2015 (2) 6 @ = 2015

(3) 6 SHaT@ 2015 (4) 6 T 2015

UATETA A FHH AT FTeed IRgGe IR TSt i TUeATe 18T hiv ?

(1) % 4. Rr (2) AFHY SEEEA

(3) =i wgEg AR (4) WY qrETEER

‘Gr’ A1 Sreer= fomm <Rivd ?

(1) =t (2) gfean (3) gERicT (4) 3wafem
‘TR AT B A1 ¢ AT ATRAGT FETHTET TSR v ?

(1) YEvaT=eh 9 McHATh (2) G 9 qESETE®

(3) g I AHATAH (4) @t 9 I TEA™
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031. Choose correct wh-type question to get underlined part.
Water is needed to sustain life on the earth.
(1)  Who is needed to sustain life on the earth?
(2)  Which is needed to sustain life on the earth?

(3)  Whose is needed to sustain life on the earth?
(4)  What is needed to sustain life on the earth?

032. Choose the proper alternative to fill in the blank.
The shopkeeper does not have the toys.
I was looking
(1) for (2) about (3) at 4) to

033. Rearrange the jumbled parts which are labelled P, Q, R, S to produce the correct sentence. Choose
the correct sequence.
The person
P : because he is poor
Q : work hard and efficiently
R : cannot
S : who is poor
(I) SRPQ (2) RPSQ 3) PQRS 4 SRQP

034. Choose the correctly spelt word
(1)  Micsllaneous (2) Miscellaneous (3) Micslleneous  (4) Miscellenious

035. Choose the proper article to fill in blank.
Ironis _ useful metal.
(1)  the (2) an 3) a (4) no article

036. Choose the most suitable ‘one word’ for the given expression:
A person who leads a simple life devoting himself to contemplation and meditation:
(1)  Altruist (2) Ascetic (3) Aesthete (4) Conservative

037. Select the correct cardinal number for the given:
A million -
(1) 100,000 (2) 10,000,000 (3) 10,000 (4) 1,000,000

Q.B. Series - 101 Marathi (Set - A) 6 of 32



038.

039.

040.

041.

042.

043.

044.

045.

Identify which part of the sentence has an error.

A. I was greatly astonished

B. when I came to know

C. that my friend is coming to see me

D. after a gap of about twenty years

) C @ A 3) B @)

Choose the correct passive voice form of the given sentence.
Why do you waste time?

(1)  Why is time being wasted by you?

(2)  Why has time been wasted by you?

(3) Why is time been wasted by you?

(4)  Why is time wasted by you?

Choose the correct antonym of the given word.
Acquisitive
(1)  Miserly (2) Austere (3) Frugal 4)

Fill in the blank with the correct alternative.
Duck : Duckling : : Hare :
(1)  Cygnet (2) Todpole (3) Piglet 4)

Choose the correct alternative for the given Direct speech :
“Oh, what a lovely day!” she exclaimed.

(1)  She exclaimed with pleasure that it was a lovely day.
(2)  She exclaimed that what a lovely day it was

(3)  She exclaimed with pleasure that it is a lovely day.
(4)  All correct.

Choose the correct alternative.
Heis_ for his evil deeds.
(1)  Famous (2) Celebrated (3) Notorious 4)

Fill in the blank with the correct alternative.
Reading iseasier ___ speaking.
(1) to (2) for (3) be 4)

Identify the mismatched pair from the given alternative.
(1)  Parrots - squeal (2) Frogs - croak
(3) Owls - hoot (4) Horses - neigh

Ardent

Leveret

Noted

than
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046. Choose the correct alternative.
He will not come,
(1)  Ido not think (2) May think
(3) I thought (4) I think

047. Find out the phrase which can correctly substitute the underlined part of the sentence.
I saw him make a wry face
(1)  Show disappointment (2) Feel sick
(3) Abuse (4) Cry with pain

048. Fill in the blank with the correct alternative.
The doctor _ the patient from taking certain medicines.
(1)  banned (2) prescribed (3) prohibited (4) proscribed

049. Choose the correct alternative.
I : This tree is older than that.
IT : He is my elder brother.
(1)  Only I is correct (2) Both I and II are correct
(3)  Only II is correct (4) Both I and II are incorrect

050. Choose the alternative which can correctly substitute the underlined part of the sentence.
We should get to the cinema early not to miss the beginning of the film.
(1)  for not missing (2) in case not to miss
(3)  in order not to miss (4) No improvement

051. Fill in the blank with the alternative.
Thisisthe __ news.
(1) latter (2) latest (3) last 4) let

052. Choose the correct alternative.
He ran
(1)  quick (2) as quickly (3) so quick (4) quickly

053. Fill in the blank with the proper alternative.
As the festival approaches the number of customers
(1)  increases (2)  will be increased
(3)  is increasing (4) will have increased

054. Choose the correct alternative.
Questions will be answeredbya __ of experts.
(1)  staff (2) band (3) panel (4) bunch
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05S.

Find out the correct feminine noun of ‘Fox’
(1)  Foxen (2)  She fox (3) Vixen (4) Foxess

Read the following passage and answer the questions selecting the most appropriate alternative.
(Que. Nos 056 to 060)
In large part determined by a person’s gense. In short, some people are more predisposed to be fat.

Moreover someone who was obese in childhood will have more fat cells than an average person. Once

made the cells may enlarge or shrink but they never disappear. Gense however don’t have to control your

girth. The size of your fat cells depends on you on your eating habits and life-style. There are ways to

keep them small : eat low-fat fibre-rich foods such as whole grain breads, vegetables and fruits. Chew

food slowly.

056.

057.

0s8.

059.

060.

What one eats is an important factor in controlling weight because -
(1)  Fat is burnt faster than proteins and carbohydrates.

(2)  Proteins and carbohydrates use up more calories than fats.
(3)  Fatty food has very little calorie content.

(4)  Digestion is affected by proteins and carbohydrates.

Body weight can be controlled best by:

(1)  Doing exercises vigorously, every day.
(2)  Mild, daily exercise and a proper diet.
(3)  Fasting and vigorous exercise.

(4)  Dieting alone.

Some ways in which obesity can be controlled are.
(1)  Using the car occasionally.

(2)  Use of bicycle as far as possible.

(3) Making a series of small physical efforts.
(4)  Totally abandoning the use of lifts.

What can we conclude about exercise from the passage?
(1)  Exercise helps only in controlling the body weight.
(2) It makes one more mercurial.

(3) It makes one more active and mentally positive.
(4) It is difficult to do exercise which is effective.

In determining whether one is going to be fat or thin.

(1)  Genes play a paramount role.

(2)  Adulthood alters childhood patterns drastically.

(3)  Eating habits and life-style make no impact on fat cells.

(4)  Fat cells formed during childhood are of crucial importance.

Q.B. Series - 101 Marathi (Set - A) 9 of 32
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061.

062.

063.

064.

065.

066.

067.

ATAATIHIME d AJTYA/MNTEA

Jeeh STcleh @ 9Ted ITEH, o e TehHd g sifgata Mt 318d. IgaR qeeme amiieh, A,
gt 9 AT 9g Tieficiehl Sgaem=a Hhivre FHEmar fogd Idrm ?
(1)  rewien fm (2) fafaeden Frm
(3) oA e (4) G fem

A SO TEvl SEw 9 Ui AT TYed SRHed g I19d. @iell feiedn geshined v
TR ek THICrT=n gvTa fega 3 ?

(1) T@9E 9 godt (2) UFEdw I

(3) dgrome (4) ST g IR O

Fdos FHTE 3fedid o St refieh Tawurel wHideh Iishar g o Haet a9, @iell feciean faamme
TaeAfaweft v faum Tm R ?

(1) HaeT & %eka 3Aiaies gfshan TR,

(2) U 3T WA A TG BN,

(3) wHdgI=AT SIedia Skl & dfshd 3TEd.

(4)  HoE fshAT WA Teh 3TRUEY SR TR,

FLETTS A0l SNEAHT HETGHT Tel SRR qohel o A0 STHeAT WiF Fidl, =ieva T g Tar ggd
e HIS 1 T@IEl GOl STEeArel Wi Ehdl. @ Wielieidshl el hivedl SigayH 2 gl 7
(1) ftfaar (2) «ifufos sfeawm

(3) fafome w:feufy (4) faforse ofifges wfefeerd

g 3fedfia 7 Siar wETesn qaiqveaT qHesslia B0l TEus IfqmT 3. @eft fecien faammey o
foam afaa=r Afsmesr smR?

(1)  ufqar fer sEam.

(2)  ufqarh o gafred arE= 1.

(3)  gEigwEiSEr gfem qaR gia .

(4) = gfan areETE dgaq i gam.

HEIIATLHAT THeTATTshI=] et IucAsd hed IS THeTer Giciiadeh! hIvd 39k TaaTd ?
)  fard=a A& fereat TR e =1L

q)  CeTAl WU hoddl faehfad shivar= Y Shaal.

%)  dIEIEled SEd =,

) eI Wievlt e e,

(1) &, 9, & %ad (2) &, &, § Bad

(3) 3, ¥, 8 wad (4) &, 9, %, s Td

T I Hd Yaigyare fafay Sl s e 51 Jedied O WU ... B
(1) = (2) g (3) feEm (4) oM
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061.

062.

063.

064.

065.

066.

067.

CHILD DEVELOPMENT & PEDAGOGY

Every child is unique and an only and matchless creation of nature. According to this various
social, mental, emotional and physical differences in siblings are seen because of which of the
following law of heredity?

(1)  Law of similarity (2) Law of variation

(3) Law of regression (4) Law of repetition

Formation of a human being occurs due to the joint working of heredity and environment. Which
of the following is affected by environment only?

(1)  Nature and attitude (2) Age of maturity

(3)  Intelligence (4) Colour of eyes and skin

Sensation is the primary mental process occurring due to stimulation of sense organs. Which of
the following statement about sensation is correct?

(1) Sensation is only an internal process

(2)  Sensation occurs only if we have the wish

(3) A Person is active about sensation

(4)  Sensation process is an inactive business of the mind

While searching for a lost coin we feel that a white round piece of paper is the coin, a faraway
shrub looks like an animal or man on a moonlit night. This happens due to which of the following
defects of illusion?

(1)  Familiarity (2) Geometrical optical illusions

(3)  Preparatory set or attitude (4) Physical causes

Imagery is revival of a previous experience without the stimulation of sense organs. Which of the
following is a characteristic of imagery?

(1)  Imagery is stable

(2) Intensity of imagery is similar in everyone

(3)  Imagery is not formed without previous experiences

(4)  All images are formed with the same intensity

Which of the following activities should a teacher carry out to give the students a chance for
creativity and imagination?

A)  Prepare forts during Diwali festival

B) Developing ideas through games

0) Ask the students to play musical instruments

D)  Arrange an exhibition by students.

(1) A,BandC only (2) A, CandD only

(3) A, BandD only 4) A,B,C,Dall

According to Munn, arrangement of various aspects of previous experience in the mind is called

(1)  Memory (2) Intelligence (3) Thinking (4) Motivation

Q.B. Series - 101 Marathi (Set - A) 11 of 32
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068.

069.

070.

071.

072.

073.

074.

T TS TSHMETTHT HSedT d AHEY ShHhRU a8 STSVATET JIcd shell STal. 3a1. TI&AT ST HIS
TS 0T g TRI&rd 9 B0 SRV Sl ATd. § Wiefierdehl o= Sfshadial SIve sTeedges aid.
(1) wfiea o8 (2) wehae™ =™ (3) TERETH Em (4) Fevmde g

RIS @TefieTdeh! hivTd f3TSes] AT 311R 7

(1)  UT3IUTIS hiddT ITS hedTd €RTUER YRUTH &Id ATal.
(2)  OROT MUTEEId IWA T ATIITAT Teehd T3ad.
(3) OO IUSIUTEEId WA X ATIITAT Teehd AT3ad.
(4)  rEnaTeRAd el Y hedTeR TSI,

foreuTTerggete Wrefietishl hivid df¥rses SR 3118 ?

(1) foremo & #gcam=i i 1R,

(2) IO ST EVATETS S=ATe e} fereean wifger.
(3)  uwon foraeht ot foder foemor s,

(4)  anon fSaeh e foaaes fermor s,

AT JAOIETeId Wieiedeh! hivrd faem T 3mg ?
(1) fowaeh oae & Tafeh o 31,

(2)  efrafies on 9 SfEst I Fehear dey IR,
(3)  icETEeh AR YT .

(4)  AfirE=t 71 3TTdaiies IO 9T 3R,

e ar= gighca=n fgaes Suuadmed o g 9 faftme oes omea cgest @reft oo
foremmiehy o faem 9w R ?

(1) I AU T Heeh ST 3TEdl.

(2) IS FAFHE I Heh AT FEAl.

(3) WM fohrEYTEh TE AT U TEAl.

(4) o9 g Td AT KA IUYH TE!.

“waEA 9 3aU=A wEwEETeR e 39U g frme e aud, fEm 9 dl e anieeHEel
HTEATET YA HIUATE AT TEUTS Wk Jefemeal 8. & SATed Wieiicushl vl HEEsH
feehte

(1) Teshs oA (2) SedE AT (3) diex Haredt (4) wlag MER

A ATSl HHHeh HoNi TR 9 Al Iee @il feedfl 31rd. <= amg Sss=n sis) 9ty
VLT ?

IeTE HOuTET ThR
1) | Rawma fammged 99 emea qor fisar oidf gendisft ared, Wy fammn | o1) | ga-Thl wud
TRV $E81 Higad T8l
i) | el ITEr Hte Tl SFEAId 9 A9 B0IE! Tl 3THd. ¥) | g9-gd TN
iil) | syragdr g @aT aredl 9u qierd ST THeATYe b aredl. %) | TehI-Teh! TS
(1) i-3FAii-dii-°k (2) i—-9ii—%hiii —3A

3) i-%Hii—diii —3A (4) i—-9ii—3Fiii—%h
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068.

069.

070.

071.

072.

073.

074.

If two things happen one after the other then one tries to find the cause and effect between them,
for e.g. A cat crosses your path while going to the examination and you fail. Your failure is linked
to the crossing of the cat. This happens due which of the following obstacles in thinking?

(1)  Prejudiced thinking (2) Coincidental judgement

(3)  Wishful thinking (4) Defect in observation

Which of the following statement about retention is correct?

(1)  Retention is not affected when poems are learned one after the other.
(2)  We can recall quickly if retention occurs in cognition state.

(3)  We can recall quickly if retention occurs in semi cognition state.

(4)  We can recall what is retained in non cognition state after some trying.

Which of the following statement about forgetting is incorrect?

(1)  Forgetting is an important process.

(2)  In order to improve memory, many things should be forgotten
(3)  Less retention, less forgetting.

(4)  More retention, less forgetting.

Which of the following statement about internal motive is incorrect?
(1)  Liking of a subject is an internal motive.

(2)  Internal motive and interest are closely related.

(3)  Motivators are internal motives.

(4)  Interest is the base of internal motive.

Spearman has given two factors i.e. General and Specific factors in his two factor theory of
intelligence. Which of the following statement is correct about it?

(1)  General factor in every person is large.

(2)  Specific factor in every person is large.

(3)  General factor is supplementary for the development of competencies.

(4)  Specific factor is useful in all functions for a person.

Emotional intelligence in terms of being able to monitor and regulate one’s own and other’s
feeling and to use feelings to guide thought and action. This definition of emotional intelligence
was given by which of the following psychologist?

(1)  Alfred Binet (2) David Weshler

(3)  Peter Salovy (4) Howard Gardener

Following are given Lewin’s types of mental conflicts and its examples. Which alternative shows
the correct pairs?

Example Type of Conflict

1) | There is money in the Pocket enough to watch a film. Desire is to| A) | Yes - No - Conflict
give party to friends and also want to watch the film.
i1) |One doesn’t want to study for the examination nor want to fail in exam. | B) | Yes - Yes - Conflict

ii1) |One feels like eating favourite food but don’t feel like eating it| C) |No - No - Conflict
because stomach is full.

(1) i-Aii-Biii-C (2) i-Bii-Ciii-A
(3) i-Cii-Biii-A (4) i-Bii-Aiii-C
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076.

077.

078.

079.
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081.

082.

083.

e e a9 Weead W gt IRITE ohall Fogdl, Al T 3deh U1 el | 36 HNTd Feul Taurl
................. G FAVET AT ST,
(1) e (2) TeRRICHSRAT (3) wfaqzor (4) HawaHIA

TH A YGHAHE THd HHM T<h HhAU HLAd U TR AHfeeh Tose fAfvaa wewume e
GhUUT T S TIZeh™ ATHTERUT shed ¥ TSd. & TS0 TEqI TehAvl Il WieiieTdehl hiuredT
AT HiSe ?

(1) dogaileg (2) (3) /=g (4) oiess

TFTTEIHE SN STeish [ 9 SehaiTeal J0uH @Haed TdiH g2 fohal S9a TS e
U4 9 SAEE aduH foamusedigER waTen feust fohdl oA Hagd e ool W fehdl e
gfafsham heft A To@T ... ERIRCECH

(1)  AfvmgEieRm (2)  SATCHAT RO (3) Huwm (4) GuTaYH

Toremreedial sTereRTaT WTafeh faehTaTeTed Wiefietdeh! hivrdl aTe I 3778 ?
(1) 31 IS qreTal hidrd.

(2) = I AT TR AT 7.

(3)  Ficfi-aFid=R Sofle .

(4) IS <hoiel TgwT foera ATE.

T 31 Hom=n1 faganetared @ieficrish! hivrd aTe 3R 3118 ?
(1) = foezneath gefemen amm= .

(2) ® Hegg foganeff srara.
(3) UM oA STEITE HE gEdTd.
(4) =1 Tageatard g Il e 3.

‘e RIS Tad=A NERT S o Sfeaqul THRSE B 3THd e hRUYT STEURT
q FATAT T U IR 3mifor wfdes worEh wfasfiar eedn g, oreft safdadccar ST
WAl <RI HHERER foef ?

(1) 4 v o (2) S Sseg fere

(3) St u fhew (4) 3. &t demm

Tehed T TSRO STgATe A1 SATETel JH107 Al HeATE WIeardshl shivral giom fegd i ?
(1) e fogg 3. (2) R STE,

(3) oKt 3o fomd. (4) ouad feoR et feud.

NPT IUUC AT TR e IUTCAHEY GTefTeTdshl IV I =l THTAS BId T8l ?
(1)  9Yccd ALHIH IqGcdl (2) T Iudedt

(3) | eI I (4) fedt gfshamenter gfqae

el SRl wedl, e e SEal, e JAT TR HLal MU ST I Jaarr= T
HAT I AT HAl, & AT U Gt e 39Ul Wiefietdehl shivredT HTHERIRESH
HISeA ?

(1) g (2) =m (3) oW (4) e
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When a student passes with less marks then he says that he had not studied for the exam but still
he passed and got these marks.

Thisis __ type defense mechanism.

(1)  Identification (2) Negativism (3) Compensation (4) Rationalisation

Similar factors are transferred between two learning methods. But a more clear transfer of learning
takes place when the two factors are generalised. This theory of generalisation was put forth by
which of the following psychologists?

(1)  Pavlov (2) Bagley (3) Judd (4) Thorndike

In infancy period when a child accepts new ideas or experience in his present structure of thinking
and understanding and when according to present way of thinking the sensation and comprehension

of an event or stimulant is done or a response is given then ____ process occurs.
(1)  Orientation (2) Assimilation
(3)  Conservation (4) Accommodation

Which of the following aspect is correct about emotional development of children of later childhood
stage?

(1)  They learn by understanding the meaning.

(2)  The attention span of these students is unlimited.

(3)  They are aware of morality & immorality.

(4)  They rarely forget what they have learned.

Which of the following aspect is incorrect about slow learners?

(1)  These children have normal (average) intelligence.

(2)  These are moron children.

(3)  These children lag behind in studies as compared to normal children.
(4)  Diagnostic tests are necessary for these children.

“Personality is the dynamic organisation within the individual of those psychophysical systems
that determine his unique adjustment to his environment”. Which of the following psychologists
put forth this definition of personality?

(1)  Norman L. Munn (2) G. W. Allport

(3) G.A. Kimble (4) J. B. Watson

If the secretion of adrenalin from adrenalin glands decreases then which of the following symptom
is observed?

(1)  Manliness is observed (2) State of good health is felt

(3) A person becomes weak (4) A person looks stable in nature.

Which of the following theory is not included in the modern group theories of learning?
(1)  Theory of mastery learning (2) Field theory of learning
(3)  Social learning theory (4) Information processing model.

A learner picks and chooses from many environmental options, basing their decisions on their own
insights and past experiences. They do this through observational learning by incorporating and
imitating the behavior of those around us. This theory was put forth by which of the following
psychologists?

(1) Bandura (2) Bloom (3) Bruner (4) Ausubel
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08S.

086.

087.

088.

089.

090.

AT ST [Iganeaines Teaaeiia Jodrel Hibd! saTel FeU[ @Ielcuehl Shive &HdT Haccal<al
TR ?

H)  Tefepcaes gedl fmior g,

§)  Wad foER AT gHar o sgrEl.

%) i fgae ggfar fmior sgref.

)  EHSE 3%hd HUATH] Had HAT SgE.

(1) =1, 9 =7for = (2) e, asmrs (3) W, waIrs  (4) A, 9, H TH

Grefietehl hivrer SfaaHr 3fEse & FHTeHs, JaTies, sigfus e 9 gedd 3Tumr Sfor It
g Yt T sk s fohfa o 7 e ?

(1) 3= wfshamertor gfaam (2) oafaara foea gfaam

(3) TmiSre rcRfshar SfaHH (4) oA wfeds wfaam

Trefl fodtean  s1eq wfsha=an Afsmemed v dfdmes Iy T ?
(1) A=A g Heh Halghl TS .

(2) IS IO SHTUITETST AT HAd 3T,

(3) Hd YA AR ARG 3.

(4) A=A & TSEs TSI HfshAT 3R,

ST TR AT ST Bhaed Ugd AUR §EH TEUIS A B, STEf AT Wietierdeht
ShIUTCAT HTTERTRESTH ohedl ?

(1) wheda (2) = (3) gead (4) frase

AT HAMT FSREE AT 8% T TEUI @ieficrdeh! ShivTeT TS HUSATT ?

1) foeneafney srfiresh fmior e,

§) SR dfiar s e,

%) I GUIEH AT FehledT Tafl CHATd e ¢ 9.

g) A AT STehar Al TehTe TSl e ehigd U,

(1) g (2) = e7for = (3) < emfr g (4) & =7for =

TTedl A AT  HHERE Il Seen feedn 3Mgd. =l I eI 93 hivdi ?
3 El
) | 37) | NI TRV STWETGR AT BRI FEWOM B,

i) | ggad q) | eI TRV STYETd ddaeed g

iii) | 7eq %) | I TEUS A 3T i Areameil guren .
iv) | fme g) | A E 9ed usad AV T o,

(1) i-%,ii-% iii—3A, iv-d (2) i—3,ii—d, iii—%h, iv-%
(3) i-%,ii—d, iii—3, iv-°h (4) i—4, ii—3, iii —h, iv -8

fiEY™ TEut TETee UfshAa AH i SdehleRIet iAW Fdeh aTdE HT SdehigR i afie gfafsean
S AT BRI, ATeS foraeeai+T T SATavl I1eR Bid. WefieTdeh! hIuTd! STel STIRFHET= IETator el ?
(1)  sremmeAf=h godt aarar Ad.

(2)  remFEAT aeud TRl Hidt TfEHEE A5 ST Ad.

(3) ISl THChTIGh daTd gl hUl STEUMH AT 3THd.

(4)  remFeiT I gl drEdr Idm.
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Which of the following competencies are important for creating studious attitude through effective
teaching?

A) Critical thinking competency

B) Competency of independent thinking

O) Competency of wisdom and sense.

D) Competency of problem solving.

(1) A, BandC only (2) A, BandD only

(3) B, CandD only (4) A,B,CandD all

Which of the following model of teaching has the objective of development of cognitive angle
and development of inductive deductive competency of thinking process?

(1)  Information processing model (2) Personal development model

(3)  Social interaction model (4) Behaviour modification model

Which of the following characteristic of learning process is not correct?
(1)  Learning occurs through proper activity.

(2)  Every animal learns in order to live

(3)  All animals learn in similar manner.

(4)  Learning process is slow process.

‘Learning is slow behavioural changes that occur in an individual with the help of experiences.’
Which of the following psychologists put forth the definition of learning?
(1)  Frandson (2) Murphy (3) Woodworth (4) Guilford

Which of the following things should be done by a teacher in order to avoid plateau stage of
learning?

A) Create interest in the students

B) Decrease the intensity of motivators

0) See that the students do not acquire wrong habits during skill achievement

D) Concentrate either on speed or accuracy.

(1) Aand B only (2) Aand C only

(3) AandD only (4) B and C only

Following are given some definitions of learning and their psychologists. Which alternative has
the correct pairs?

A B
1) |Munn A) [Improvement in behaviour through experience is learning
i1) | Woodworth B) |Learning is experience based behaviour change
iii) | Gates C) |Learning means improvement in experience and behaviour
1v) | Sigoule D) |Learning is process that brings change.
(1) i-Cii-Diii-Aiv-B 2) i-Aii-Biii-Civ-D
(3) i-Dii-Biii-Aiv-C (4) i-Bii-Aii-Civ-D

“Conditioning means if one stimulus can elicit a given response, the mere pairing of it with
neutral stimulus results in the neutral stimulus also becoming capable of eliciting that response.”
Accordingly which of the following is not an example of conditioning?

(1) One can change the attitude of learner.

(2)  One can remove fear of a learner by conditioning.

(3)  One cannot change strange behaviour of the learners by conditioning.

(4)  One can imbibe suitable habits in learners.
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091.

092.

093.

094.

095.

096.

097.

098.

099.

100.

o

10 31 Benioft TR A A= TeeaT el S urn fendi ?
(1) 14 (2) 13 (3) 12 (4) 11

Teh hTH el IS el fGaara qul Shidard. S HS! ge % U ohefl; A dd hH U1 hoard feareh
T qdten g@d=an fohdt 1 BIEa ?

(1) oo v (2) 3w (3) dewe (4) 5w
o T ed frea et o ?
(1) Mt C (2) xVIt IV (3)  xc ek x (4) Dast CD

fufie e sTeR AT 9@ uifeelt, deat drEeRTel 9 ffHedTer JraTd Hehia TR A feEer. @@
T g T T Sl hIeITd fehdl TR i Bl ?
(1) 40° (2) 45° (3) 150° (4)  165°

Tl Tepdiaard [ | <A SRl STHR §@A hivrd ?
15, 26, 35, 50, 63, [ ], 99
(1) 80 (2) 81 (3) 82 (4) 83

88 Tl uiE TEUTAT SgBTeRId Hivdal IR foig e gt TR Seied SReTehdre are] Tt
Tl S8 ?

(1) 142 (2) 14 (3) 742 (4) 7

JeAh! 1.75 M. THE GO qohe HUITETS! el Uhivietg i, dreiean i gieal ek Jesfoett; @
o1 gell qrten fohdl foshrofl rame @mlet 7

(1) 6 (2) 5 (3) 10 (4) 11

Tehl TG 15, 11 101 12 I YW 3791, Tcdeh deb! sehl 4 3. o’ ol T Wil qIiamdeh!

HIVIT 3T Tehed 7

(1) 660 (2) 1984 (3) 1316 (4) 2636
(6.5—3.3—2.5)2.25+0.25+3.2) _ e 7

[as+14x65—33y4225+02$m25—17® - ‘

(1 1 2) 0 (3) 2.5 (4) 3.2

T IqBIhd] AFHEN STEUT=T AARd! HeHr= arsl 56 . I %d 42 H. 378, SR AgER Irat
RRiferg adestehd! P JREmEt 3THdi; W 35 aied 3aNd arre &ahe fohdl =1, . 3@ ?
(1) 2135 (2) 3850 (3) 2352 (4) 1498
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MATHEMATICS

What is a base of sequential eight triangular number comes after triangular number 10?
(1) 14 2 13 3) 12 4 1

Some workers completes a work within some days. If number of workers is increased by % times,
then how many times the days are required to complete the same work?

(1)  one and quarter times (2) % times
(3)  one and half times ) 3 times

With reference to Roman numbers system, which is the contradictory option from the following?
(1) M is divided by C (2) xxV is multiplied by IV.
(3)  xcplus x (4) D minus CD

When minute hand is at twelve right angle is observed in between minute hand and an hour hand
of a clock. What will be the angle (in degrees) will be observed after one and half hour between
two hands of a clock:

(1) 40° (2) 45° (3) 150° (4) 165°

What will be the number at “[ ] place in the following number pattern?
15,26, 35,50,63, [ ],99
(1) 80 @) 8l 3) 82 @) 83

What will be the length of a side of the square in cm. formed by joining four points on the circle
whose circumference is 88 cm?

(1) 14y2 (2) 14 3) 7v2 “4) 7

Two ends of a rope having length quarter and nineteen meters are assembled at together at a point.
In how many points such a dual rope will be cuts in order to divide it in equal pieces having a
length of 1.75 meters each?

(1) 6 2 5 3) 10 4) 11

When a number is divided by 15, 11 and 12 every time the remainder will be 4. What will be the
number from the following?
(1) 660 (2) 1984 (3) 1316 (4) 2636

(6.5—3.3—2.5)(2.25+0.25+3.2) .,
1.8+ 1.4)(65-33)—(2.25+025)425—1.75)| °

1 1 2) 0 3) 2.5 4) 3.2

Length and breadth of a rectangular ground in a circular garden is 56 m and 42 m, respectively.
If four Vertices of a ground are on a circumference of a circular garden. Find the area of a region
excluding ground in sq. m.

(1) 2135 (2) 3850 (3) 2352 (4) 1498
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101.

102.

103.

104.

105.

106.

107.

108.

109.

110.

GlerdTel AT¥e oaq &. 10000 3TET d Afcehrean Hiieh Ja-T=a1 HedTue 315, Afcehr=al HIHeh Ja-T= &R
A= HIHeh SaT=a] g 3 ; T Hiordl 9 ST Ir=a1 Wil ATl Bish fohell 20 Ta 7
(1) %. 6000 (2) . 4000 (3) = 3750 (4) . 2000

HTE AT TIeh! 18 FaN e 3. g JeIaTd Jcdeh! 24 J_Il d1eedl; degl 150 J@n HHl gge;
T 1 gt g fohd! o ?
(1) 18 (2) 28 (3) 22 (4) 25

IS SRl <iehiTe] T fohel ?

(1) 6 (2) 8
(3) 10 (4) 12

56 S%q HUH A=Al A ; T fohdt TR arear Al ?
(1) 10 (2) 8 (3) 6 (4) 4

29 3 wH e sl foRdt?
(1) 2500 (2) 2475 (3) 2530 (4) 2430

(9 @ 49), (11 3 111), (19 F 247), (21 T 85) MM (12 & 33) AU HEHe TEATAT Se= foheft ?
(1) W= (2) @d (3) = (4) =R

s aff HEwsg feq yphar) IR, A e ot freres fo v At s ¢
(1) gwEn (2) gepaR (3) TEaR (4) wiER

farfarse Toremia %%WW%%WWW%W%WW
ENERIGIRETH) %stﬂwﬁ?«ﬁa@a;mmwwaﬁwﬁ@??

(1) g (2) s (3) @t (4) <fom
‘ST & ... sraal.” g faam ol swoamardt I = et @refierdeh! shivre ?

) HATHYS dhH
q)  hEHH A
%) TS AR

(1) W ‘o1 offor ‘& (2) wwa @ omfn ‘F

(3) e 3 efor ‘% (4) Tt o, 9 amfor &

1 5 1 _
[17+<§_Z>X0'24] = fed?
(n 5% (2) 1.59 (3) 155 (4) 0.54
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Monthly salary of Savita is ¥ 10000. It is quarter one times the salary of Vedica. Vedica's monthly
salary is twice the Asiya's monthly salary. What is a difference between the monthly salary of
Vedica and Asiya?

(1) 6000 (2) <4000 (3) 3750 4) <2000

It is decided that among some boys 18 notebooks are given to each boy. But when actually 24
notebooks are given to each boy. 150 notebooks are fall short. Then what is the number of boys?
(1) 18 (2) 28 3) 22 4 25

Write the number of quadrilaterals

in the adjoining figure.

(1) o6 2) 8
3) 10 4) 12

If 56 articles are to be distributed equally, then how many ways can they distributed?
(H 10 2) 8 3) 6 4 4

What is a sum of all two digits even numbers?
(1) 2500 (2) 2475 (3) 2530 (4) 2430

How many pairs of co-prime numbers from the following?
(9 and 49), (11 and 111), (19 and 247), (21 and 85) and (12 and 33)?
(1)  Five (2) Two (3) Three (4) Four

In a certain year ‘Maharashtra Din’ is on Friday in the same year what will be the day on ‘Shikshak
Din’?
(1)  Wednesday (2) Friday (3) Thursday (4) Saturday

Of the certain amount, if % times is given to Ved or % times the amount is given to Alok or

itimes of the amount is given to Saniya or %times of the amount is given to Veena. Then
who will get the least amount?

(1)  Ved (2) Alok (3) Saniya (4) Veena
‘Rectangle is a ................. ’ to complete this statement which of the following alternatives is more
correct?

A)  Parallelogram
B) Right angled quadrilateral

@) Rhombus.
(1) onlyAandB (2) only BandC
(3) onlyAandC (4) All three A, B and C

Find the Value of : [1%+<2—L> X 0,24] =9

8 4
1y 5% 2) 159 3) 155 @) 0.54
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111.  3I9He geviieed dar
BT Sfedehti=redt STreRTT=an
= ‘A’ = faeg gt
IV R FEA ?
(1) E (2) F
(3) C (4) D

F

112. o9 Yeamed A 216, 126 9 162 9@ 3ATed. o1 YA d@ld 99 &l 31l T3 i
IHITE Tedh TZATd SEATd S Tehdl aI@iT ==TeT ?
(1) 6 (2) 9 (3) 36 (4) 18

113.  49.247 I G I eheld =] TATHw fohAd Srefiendia am=an Taifeh fohad=an ferdl 92 g ?
(1) 10° (2) 107 (3) 10° (4) 107

114. IO FHYS AhHT

n° = Tepet?
(1) 70° (2) 80°
(3) 60° (4) 90°

115. 9 &t x 40 | TRl Thd HETET=AT Q! UMl HIYT IR IARhl IR hedld; T gH Hig=
TR TRUT IR fohdt S T8 ?

(1) 262 o+t (2) 180 @t (3) 162 @t (4) 81 Tt
116. (x2—9x—|-20)} -0 &S - qW x = FRdr?
(x—=3) ’ ’
(1) 4 (2) -4 (3) 5 (4) -5

117. %o @l 500 &9 fhmei=an & ®r@El 2000 €9 fohAdi=an Arer e fueefid 30500 & 3fad; ®
1 fuwrefa @it w=ETdeh! 500 &9 fehadi=an ferdt dieT o7 wrehdiiet ?
(1) 23 (2) 39 (3) 43 (4) 49

118.  TShI AT Lehehld ST hifeehlA FT=am ATUT= S 200° 318, T 1 AT 7Y foheft ?
(1) 35° (2) 45° (3) 55° (4) 65°
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In the figure aside is a open structure of E
parallelopipe box. What will be the

letter on exactly opposite

surface of letter ‘A’?

(1) E 2) F A|B|C|D
3 C 4 D

F

Three boxes contains respectively 216, 126 and 162 notebooks. If three bundles of equal numbers
of notebooks are made. Then how many maximum numbers of note-books each bundle will
contains?

(1) 6 2 9 3) 36 4) 18

In a number 49.247, how many times the place value of 4 at extreme right than the extreme left?
(1) 10° (2) 1072 3) 10° 4) 107

In the thombus in adjoining

figure. What will be the

value of n° ?

(1) 70° (2) 80°
3) 60° 4) 90°

Rectangular color paper of size 9 cm % 40 cm. is cut diagonally into four triangle shaped pieces
i.e. pataka. What will be the total perimeter of two largest pieces (patakas) so formed?
(1) 262cm (2) 180 cm (3) 162cm (4) 8l cm

If

2
(x &%;20)] =0 then x = ?

1 4 2 -4 3 3 4 -5

In a bag there are some notes of ¥ 500 and some notes of ¥ 2000 denominations. Total cost of
notes is ¥ 30500. Find the total number of notes of ¥ 500 in a bag.
(1) 23 2) 39 3) 43 4 49

If sum of the measures of supplementary angle and complementary angle of an angle is 200°.
What will be the measure of an angle?
(1) 35° (2) 45° (3) 55° (4) 65°
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119.

120.

. 119 T 120 GIAT: AT A0 e areal.

------------- g ------------- e ey e e e et | Y & St

ST

ST Afg=ar=h foemeff Sufeerdt atfmee wfg=m=an Sufterdi=ar 9. fordA Seq =R ?
(1) 1§ (2) 10 (3) 121 (4) 888

fopelt Afgama fereneart=h 21, ufeordt o= Afg=rdia 9. wuad Sufeerdiven st e ?
(1) = (2) =d (3) (4) =m
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119.

120.

Note: Instructions for Q. 119 and Q. 120
Observe the graph given and answer the Q. 119, Q. 120

3 ] 3
L 100 Scale . |
T Y e T T T ) T ) | |On Y-axis-Attendance Percent |
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By how many percent more attendance of a students in the month of October than the attendance
in the month of August?

) 1y @ 10 3 121 @ st

In how many months the percent attendance of students is less than the average of attendance
(percent) in the five months?
(1) One (2) Two (3) Three (4) Four
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121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

qER 1%

URATAT FediH e 3fdgrm= shiei@s v ?

(1) 38 T4 99 ST IR SHel T IS Sashiad
(2)  STWTTH HIBIET ST FATAT ST IqhIaAd

(3) STWH HIBIET ST AT TETeAT IashIad

(4) U T g TS AR d I FATEAT ST TARIIId

Grefiadeh! e faam Hiord ?

) ESWT HEhdle Gy Hehd) ST TR

d)  FSW g WieAsice! A qal fowmmean sanmed gHe Aftrest fogg st
%)  BSWI 9 WigASIGE! & Ghkal Yt 3TN TR 3TTRd.

(1) e ‘& s S (2) e W ST H

(3) wad W ST or (4) fadt ‘o, 9 onfor &

Al Ihi=a AT GigHH THa IVl AW @ Sl ?

(1)  gmr e (2) 2mr ged (3) fsfetom d@  (4) wiFdE @
TreerTeTa feedt TR /TS W THAT e /ST gt qtE Shivrar ?

(1) HATCHIA dTa (2) FRIR T YNETS

(3) amfiergdial deai (4) voE 9 AgwE

“BAY TITETS HERIST @ SATIeAT HEhT=IHT e[ SieTd 3TTed. T JHT heqd hivl SheHTEMT hefl 318 7
(1)  w@remn SAifaen B (2) YsmugH A

(3) gy TR (4) Tl Tm=Ig

eI YRA Ufgel STRUREH IVl Idehld TR et ?

(1) uerm (2) wreE (3) wara (4) FUa
B Trars werrer: e o aud e 7

(1) dsoTe (2) <@ (3) =Thes (4) BawEes

‘Rt A9 Yaehi= /T fUeeE sresst v’ A1 arerel) Geferd TSRt aair faemeian
fR1&re v erEe QR ATE ?

(1) et AEw (2) RSt WY (3) AT TSR (4) S ORI
o= Fled Tt B GelUd /98 hivea SeeTi Heltd 3178 ?

(1) Hregs (2) umES (3) smHRES (4) @@
AR FfTETHHER @il qimieh! SHior Javd TR el ?

(1) et MR (2) eforR I HiERids ATTHR

(3) HAGHTET MR (4) =TS IUTFASHTET SATUHR
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121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

ENVIRONMENTAL STUDIES

Which of the following is the era of ancient history related to India?
(1) 8" century BC to 10" century AD.

(2)  from stone Age to 8" century AD.

(3)  from stone Age to 10" century AD.

(4)  from 8th century BC to 8" century AD.

Which of the following are correct statements?

A)  Harappa civilization is also called as Indus civilization.

B)  Both Harappa and Mohenjodaro civilizations showed similarity in historical remains.
C)  Harappa and Mohenjodaro both cities are in Pakistan now.

(1) OnlyAandB (2) OnlyBandC

(3) OnlyCand A (4) A,BandCall

What is the ‘Intelligent Man’ from the stage of development in human evolution called?
(1)  Homo habilis (2) Homo erectus
(3)  Neanderthal man (4) Cro-magnon man

Which of the following area is not an area of Hindavi Swarajya in times of Shivaji Maharaj?
(1)  Belgaum in Karnataka (2) Karwar and Dharwad
(3)  Vellore in Tamil Nadu (4) Mysore and Madurai

Which of the following person has written a poem about an imaginary incident in which Shivaji
Maharaj talks to his associates?

(1)  Mahatma Jyotiba Phule (2) Subramanyam Bharti

(3)  Ravindranath Tagore (4) Sarojini Naidu

In which century was the first Navy of Medieval India established?
(1)  Fifteenth (2) Sixteenth (3) Seventeenth (4) Eighteenth

Chatrapati Shivaji Maharaj : Shivnery :: Samarth Ramdas : ?
(1)  Sajjangad (2) Jaamb (3) Chaphal (4) Shivtharghal

“Shivaji Maharaj cared for his associates like a father.” While explaining this to the students, a
teacher will not give example of which of the following person?

(1)  Madari Mehetar (2) Kanhoji Jedhe

(3)  Prataprao Gujar (4) Baji Ghorpade

The Post of 'Bargir' was associated with which of the following division in the army of Shivaji

Maharaj?
(1) Cavalry (2) Infantry
(3) Navy (4) Intelligence Service

Which of the following is not a fundamental right according to the constitution of India?
(1)  Right to Freedom of Religion (2) Educational and Cultural Rights
(3)  Right to Vote (4) Right to Constitutional Protection
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131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

UM 15 9 AT 45 TCEIEEIT SV LTS ET T8I 379d 7
(1) TRU=md (2) u=ra Gfid (3) TRUNwg (4) TmHI=EG

QTelidl AT TsauTerRn Heted foemd s hiondt 7
(1) TSI "eATcHS Y@ 3.

(2) TSI SRSR YHE TEdr.

(3) TSATETESA et ITEAT.

(4) TSATHSA FHRIBH HSS THE Tl

TIRT qered TEUN R ShIoTT ?

(1) st (2) dTAIYTSET (3)  gr=T=T Hiel (4) wmIiE

U T 9 el @ e e Sl et 1 ?

(1)  SRoEw (2) TTEARTY (3) T =M (4) Safafgear sTm
HERTSITA TRIgl Uaidi o9 STEe3vT= YqE 3Tfeare STt shiore ?

(1) PRH-aReA (2) dRcA-hiRuT (3) wrpon-fies (4) Trea-+Rs

PTG ga AT YeRI=AT Hou e /Tqured FHOm fae™ Wit qaEdehl shivrd ?
(1) oHfce GeHT UG B a1 ge=t Fffedt 2a.

(2) ffhE, dHerEe A1 g e sl U1 UTed grdl.

(3) Ul g JGUATE AT STEd 3TEd.

(4) = geen TR fha et ger 3 TEu.

HERSETAE Felied &ET= faam hidl qaamT=ael Jeféeq el aaided gard Sed 9 gard
HHt areft At guifaumy gafer o ?

(1)  hrAaT-3ET (2) HIET-adTd (3) fagR-—3wm (4) fo@R-qema
GTella qTieh! @gar df¥sesd i ?

(1)  oERrsht JmTa (2) et wHE

(3) ¥ WWIgd S gEddd (4) 0° @mgw T foyeed

“HeM’ I T ASEAT ST TSI hIvTdT ?

(1) T Tsar=n giéqor wir snfor snfeem Tsamen Jskca 9w

(2) SIS TSI HEAWNT AT SAfgen TsaT=n ufead am

(3) Y ww

(4)  wHleHd U8R

‘Tt Il AT AT TR Hefd STl Wieierdehl ShIoTeT ?

) THMN YRR TS FHOMSR forediol &smd el Jom dieh

d) A 9 UYEesrE] Sl S STaX

%)  Taifeq Tl

1) e ‘3 i ‘a (2) wwa @ omfn ‘F
3)  wad ‘3 emfr & (4) Tt ‘&7 9@ sufor =
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133.

134.

135.

136.

137.

138.

139.

140.

Which of the following local government has maximum 45 members and minimum 15 members?
(1)  Nagar Panchayat (2) Panchayat Samiti
(3)  Municipality (4) Gram Panchayat

Which of the following aspect, related to the Governor, is not correct?
(1)  He is the constitutional head of the state.

(2)  He is not the executive head of the state.

(3)  He is appointed from the other state.

(4)  He is not included in the executive committee of the state.

Which of the following is not a fibrous substance?

(1) Bajra (2) Leafy Vegetables

(3) Bran (4) Margarin

The group "Pench, Navegaon and Chandoli" is related to which of the following?
(1)  Protected forests (Sharanvane) (2) Sanctuaries

(3)  National Parks (4) Biodiversity Parks

Which of the following Adivasi tribes are found in Sahyadri Mountaineous areas of Maharashtra?
(1)  Korku-Warli (2) Warli-Kokana (3) Kokana-Bhil (4) Bhil-Korku

Which of the following is not a characteristic of "Black Soil"?

(1)  This soil is formed by the weathering of basalt rocks.

(2)  The black colour of the soil is due to presence of titanic ferrous and magnetite elements.
(3)  The capacity of water retention is more.

(4)  This soil is also called as "Regur Soil" or "Alluvial Soil".

Considering the irrigation area in Maharashtra which of the following pair of irrigation means is
the pair of most used means and least used means of irrigation?

(1)  Canal - Lift (2) Canal - Tank (3) Well - Lift (4) Well - Tank
Which of the following is a characteristic of latitudes?

(1)  Parallel to each other (2)  Similar Lengths

(3)  Prime meridian means largest parallel (4) 0° latitude means equator.

Which of the following is recognised by the name of "Maidan"?
(1)  Southern part of Chattisgarh and south-west part of Odisha
(2)  Central part of Chattisgarh and western part of Odisha

(3)  Eastern Plateaus

(4)  Karnataka Plateau

Which of the following are related to "Intensive Agriculture" a type of farming?
A)  Farming done in vast area where only one type of crop is taken.

B)  Maximum use of human and animal labour.

C) Limited mechanisation.

(1) Only Aand B (2) OnlyBandC

(3) OnlyAandC (4) A,BandCall
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141.

142.

143.

144.

145.

146.

147.

148.

149.

150.

TSRIa=AT HH AN (Fe) HeRIsgrie SeglT=n TTe Shior ?
(1) - gEr-ya (2) SSTE-AIRE (3) ST (4) 3Imi-geg

gaaTgroe TE (Toegat) Jreansh fada a9 @refter st v ?
(1) =rél 7@ <rafy sTEdrd.

(2) T A STeUTgH AT,

(3) T dF FUAH T .

(4) SR AU SASENEAT AIHHEER 96ad.

HYeho=a T T WAt JAT-ATdeh! <hIoTdT ?
(1)  offfrEn, whedl, ool (2) e, z&e, e
(3) @&, T, TATS (4) @&, 394, TS0l

HoTedT SHT=A1 SEMEd aHdid a1 F1aH S=afad e 378 7
(1) @@ (2) S (3) hremTETh (4) 3iwy

Y& A IR STeofid Taveh ST qISehged Shivedl TeshlarRd fHesard ?
(1) fTosera uered (2) Wug (3) SheEcea (4) wftm

IR STEH=aT ST BT WEd MSauara sl <hlo ohid ?
(1)  Toaehisment (2) Tdfesiient (3) TFIART (4) TR

gediaEd SR Mol T fHd’ ATl SRUAYA ST0THT /WM Heeh WIefiedeh! hivrdl /<hIoTd
) TR

) e ot

(1) w1 (2) ww

(3) qeEr e emfur ‘@ (4) ‘1 smfor T gt A,
AT G oo .

(1) @@= (2) wdf (3) fou= (4) Fameh

el ‘sror’ 9 ‘giom’ g 7 e g I qae el

gftom: &) g Ui g gREgieH J SAaRiie et uremie i s,

(1) w3 aw= (2) wEa 9 A=

(3) T e emfur § A (4) ‘o smfor T T S

JREEIdt foaess’ 81 Udeh STTHRESHEY iUl fshaT AT ShTH hidTd ?
(1) =Tt (2) HshH (3) 3cEsH (4) @Ry
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147.

148.

149.

150.

Which of the following group of districts of Maharashtra lies adjacent to Gujarat border?
(1)  Nandurbar - Dhule (2) Jalgaon - Nashik
(3)  Thane - Palghar (4) Thane - Mumbai

Which of the following is not a characteristic of Pisces class?

(1)  Some fish have longer life span.

(2)  Some fish have shorter life span.

(3)  Their heart is made of three chambers.

(4)  Body temperature changes according to the temperature of surrounding.

Which of the following is a group of contagious diseases?
(1)  Anaemia, Scurvy, Ringworm (2) Ringworm, Eczema, Uremia
(3)  Scabies, Ringworm, Goitre (4) Scabies, Eczema, Ringworm

What is 'Bone Meal' made from bones of dead animals?
(1)  Fertilizer (2) Gelatin (3) Insecticide (4) Medicine

Which of the following nutrients are necessary for body building of humans?
(1)  Carbohydrates (2) Fats (3) Vitamins (4) Proteins

Which of the following helps in the process of clotting of blood in case of wounds on the body?
(1)  Blood capillaries (2) Blood platelets
(3)  Lymph vessels (4) Blood corpuscle

The sky appears blue when we observe from the earth. Which of the following factor is responsible
for this phenomenon?

A) Atmosphere

B) Scattering of light

(1)  Only A correct (2) Only B correct

(3) Both A and B correct (4) Both A and B incorrect

Generally non metals arenot |
(1)  Ductile (2) Maleable (3) Brittle (4) Goodconductors

Following are given reason (cause) and effect statements. Which of the following alternative is
correct considering the statements?

Reason : A) Water is a compound

Effect : B) The properties of water are different from the properties of hydrogen and oxygen.
(1)  Only A correct (2) Only B correct

(3) Both A and B correct (4) Both A and B incorrect

The 'decomposers' a factor of the ecosystem perform which of the following function?
(1)  Assimilation (2) Transfer (3) Excretion (4) Osmosis
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